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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & # T (GEEM)
g
= 1 102, 623, 054
JE T
= 1 1,105, 174
P AT
= 1 1,105, 174
FEHIA (h=27) -+ £50, 000m3 A
= 1 154, 364
B S AVHE T O ALE]
= 1 188, 360
b TE b Cash ERIRY L&)
= 1 762, 450
RCAG ) T
= 1 97, 386, 673
EE LT
= 1 602, 924
ST
= 1 54, 387, 849
ST I B 1500mm FiE GREHE) 21
m  30-18-40 (& 4F)
(Fo#h)
VN 9 3,032, 306 27, 290, 754
ST I ik 1500mm #if GRFE) 23
m  30-18-40 (&)
(v
VN 9 2,977, 621 26, 798, 589
FEIA (7)) -k
m3 43 1,090 46, 870
Prau kil )= EFR HEEm E D Zb L
m3 43 1,569 67, 467
ALy vy -k (R
m3 43 4,283 184, 169
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THEX Sy« TH - FERI - HH50 MoK T B B G AT & # T (GEEM)
MR T (R 1 49 HALT)
= 1 42, 395, 900
TG 5mA b 10moRdi# 300m3 LA _E500m3
i 24-12-25(20) (%)
m3 286 30, 368 8, 685, 248
TG 5mA b 10moRdi# 300m3 LA _E500m3
il 24-12-40 (B 4A)
m3 416 30, 131 12, 534, 496
ERAR SD345 D16~25
t 33.59 188, 208 6, 321, 906
ERAR SD345 D29~32
t 40. 7 157,129 6, 395, 150
Y] SD345 D35
t 25.12 157, 767 3,963, 107
ERAR SD345 (3 UFigkf) D29
t 2. 74 193, 404 529, 926
ERAR SD345 (3 UFHigkfs) D32
t 10. 35 192, 766 1,995, 128
ERAR SD345 (3 UFigkfs) D35
t 9.97 197, 687 1,970, 939
% T
= 1 4,131, 207
VESEY-1 i T
= 1 3, 167, 706
=1 IR
= 1 319, 426
[ 12 FA)79v477 RC-40
= 1 1, 593, 900
FEHIA (h=27) -1+ £50, 000m3 AT
= 1 229, 460
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
b TE b Cash ERIRY L&)
= 1 1, 024, 920
RIEE T
= 1 963, 501
AR B
= 1 963, 501
B T
= 1 102, 623, 054
BTl TE:
= 1 17, 406, 182
B ST ¢
= 1 7,205, 529
TR
= 1 6,168,512
T RR A Sy FRAR ST A B
= 1 6,168,512
Htre m
= 1 53, 591
B M R FEART IR
= 1 53, 591
BUGERRYCEE (K5 1)
= 1 983, 426
MR R (B L)
= 1 10, 200, 653
Wi
= 1 120, 029, 236
BTk X=giiv oy
= 1 35, 852, 673
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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)

R 5]

= 1 155, 881, 909
— e

= 1 24, 908, 091
T HAlik

= 1 180, 790, 000
THE B 2 %8

= 1 18, 079, 000
TG

= 1 198, 869, 000
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